
Vicon part number 8009-8343-00-00 
Vicon and its logo are registered trademarks of Vicon Industries Inc. All rights reserved.  
Product specifications subject to change without notice. 

 
Quick Guide: Installation of V1001-CM with V1001-WM       
 

  

 

 

 

Package Contents   

The corner mount is shipped as two 

90° angle parts. 

Use Screw Bag A for steps 2 and 4. Use Screw Bag B for step 3. 

 

   

Step 1 Step 2 Step 3 

Align the holes of the two corner 

parts and insert the integral posts 

on one piece through the holes in 

second piece to assemble the 

mount. 

Secure with M8 nut, M8 spring 

washer, M8 washer, tightening 

clockwise. 

Using the mount as a template, 

mark and drill mounting holes in 

the wall; tap anchors into the 

holes. Secure the corner mount on 

the wall.  

4 each - M8 screw-
25mm/30mm 
6 - M8 nut 
6 - M8 spring washer 
6 - M8 washer 

8 - 5/16 anchor 
8 - 5/16 ¾ bolt 
8 - M8 washer 
8 - M8 spring washer 



Vicon part number 8009-8343-00-00 
Vicon and its logo are registered trademarks of Vicon Industries Inc. All rights reserved.  
Product specifications subject to change without notice. 

 Step 4  

 Secure the Wall Mount onto the corner mount  

 


